LFEORERR (BEFMEREEAN)

(BEATI : 15) (BRl . FEMXRETE &F1A~12A)
i x5 mRE | e | e

o o EREEN 2 34 459 50 555

B EH] - - 42 4 46

5 ZEREBENR 1 27 458 3 59 560

5 E5 ] 0 3 40 1 4 50

_ | EREENR 7 49 481 2 89 645

T 1 2 50 i 7 61

. ZEREEN 2 31 446 9 87 666

5 E5 ] 0 5 40 1 7 55

- BEREENH 3 31 548 5 92 724

5 ES ] 1 4 49 8 63

8 F=EEEK - 57 679 131 902

5 ES ] - 3 55 11 72

, EEEEN 4 47 763 135 997

5 ES ] - 3 76 9 95

e F=EEEK 1 53 734 8 107 941

5 ES ] 8 87 1 7 106

s BEREERN 5 52 834 9 161 1,094

5 ES ] 1 1 93 14 113

” e 5 87 892 151 1,170

5 ESH] 2 10 91 13 120

5 EREEN 4 93 1,069 153 1,360

5 ESH] - 3 97 10 110

- EREEN 71 960 187 1,262

5 ESH] 6 88 17 116

Jy EEEERK 51 1,102 218 1,428

5 ESH] 2 7 97 15 124

o EREEN 4 44 1,231 243 1,524

5 ESH] 1 4 95 13 120

" ZEREEN 6 54 1,506 275 1,935

5 B ] 1 2 113 22 151

'8 ZEREEN 54 1,411 313 1,852

5 B ] 7 112 30 153

'y ZEREEN 58 1,515 298 1,967

5 B ] 5 142 22 179

. ZEREEN 53 1,474 263 1,911

5 B ] 8 132 28 185
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LFEORERR (BEFMEREEAN)

(BT : 1) (Bl . FEXEETE 2F18~12A)
o = 7 XIFEIE HEIE BHEIL Fgeie AR %Hf;ﬂ;g) ast

o 15 BREENR 22 61 1,547 57 13 279 1,979

FESH] - 12 158 12 - 35 217

4 EEEEN 8 91 1,930 45 14 318 2,406

FESH] - 7 158 8 1 27 201

3 BREENR 11 79 1,801 37 14 258 2,200

FESH] 2 8 162 3 1 16 192

., EEBEN 18 64 1,484 43 15 282 1,906

RS H] - 4 149 6 - 20 179

| EEBEN 9 35 1,974 14 7 247 2,286

FESH] 1 152 1 - 23 178

0 BREENR 16 45 1,913 28 6 179 2,187

FESH] - 4 172 2 - 15 193

o BREENR 9 26 1,334 15 2 136 1,522

FESH] 4 1 179 1 - 12 197

o BREENR 3 16 1,213 25 - 122 1,379

FESH] - 1 120 10 - 20 151

| EEEEN 6 14 1,270 4 1 83 1,378

FESH] 3 1 142 - - 23 169

. BREENR 11 22 1,261 3 2 81 1,380

FEESH] 1 1 135 - 1 8 146

. BREENR 6 23 952 8 6 90 1,085

FEESH] 1 2 73 - 2 13 91

| EEBEN 6 23 753 9 5 79 875

FEESH] i 6 75 1 12 95

5 BREENR 5 28 789 15 3 77 917

FEESH] 1 3 64 4 1 4 77

| EREER 6 26 802 22 6 45 907

FEESH] 1 1 50 - - 1 53

- EREEN 5 13 660 17 4 20 719

FEESH] 1 1 50 - - 1 53
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LFEORERR (BEFMEREEAN)

(AL : 1) (BH : FEMXRETE &F1A~12AR)
X 2 ZTDAD
L vy ait
ER 7 S0 -
EREEN 25 643 45 759
B2 63—

5 5H] - 41 1 44

6 EREENR 7 30 733 5 59 883

5 5H] 1 - 48 1 4 64

61 EREENR 6 54 954 4 51 1,110
=il 7 93 2 102

60 EREENR 32 943 5 17 1,045
=il 4 84 3 98

- EREEN 17 860 23 938
=il - 66 1 71

o EEBEN 29 711 27 839

75 B H] 6 75 - 94
BEREEN 49 724 49 889

B2 57

=il 5 42 2 55
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